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Test Yobs-Ypred
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Fitted vs. Residuals for Fitted Model

1
1
1
1
1
X o
1
o)
1
1
1
| o
, oo
1
! o
o ° ° o 9 doo o °
o [ole] o) o
[o] ! o
o OO_
° o 8 o
0% o & [¢] oo
o© ol 000
o 1 0o
OO o 00 o o o
oo ® D@5 1 o o
o @ | [e] @ o
o o .o o
o P 8 8 n‘%% %@oo%v o
o 0,0
% & (o] OO [e]
0 60° o® o
1
8 %o © o
o o%%@o )
o o (<) o >0
@° P ° o
o8 © 89 @9
O o a OONVWO
o 0%, 8o o °
o o ©° O & P 00 o
o 0 00 o O 06%% o
o o 0@0%0 o
o o o% 0% o ° o
o
) % 2 owu%%nbva o o
o o @00 onnumvn& °
o ooo%ﬁvoo %
°g ° So “UOO Om
o o ©°
| [o]
o,
<) o ro o
%o o
o o 1 9
00 % o %
® o
o @, ° o
o O o o
[o] | [e]
1
o | o OO
1
1
ooo ' o
1
1
)
1
.
[

sfenpisay

Fitted



Hat

0.4

0.3

0.2

0.1

0.0

Leverage for Fitted Model
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